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61. Which of the following options are correct for the reaction

2[Au(CN),] (aq) +Zn(s) > 2 Au(s) + [Zn (CN) 4]2‘ (aq)

A.Redox reaction

B. Displacement reaction

C. Decomposition reaction

D. Combination reaction

Choose the correct answer from the options given below :

(1)Aand B only (2) Cand D only (3)Aand D only (4)Aonly

& S Affbar & ford I a1 fadbey wE @ -

2[Au(CN),] (aq) + Zn (s) > 2 Au (s) + [Zn (CN),]* (aq)

A. SeRITEd AfhaT

B. favermas sifafshar

C. aqees sifafhar

D. INcHS 3rfAfhar

A Rl T et § & ) SR B g -

(1) ®adt AR B (2) waa C 3R D (3) ®ad AR D (4)dad A
Question ID : 7155053746
Ans.  Official Answer NTA (1)

1 -0 0 2 -2
Sol. 2|:Au (CN)2:| +Zn(s)—>2Au+|:Zn(CN)4:|

Zn displaced Au*
Reduction and Oxidation both are taking place.
62. Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : The spin only magnetic moment value for [Fe(CN), ]’ is 1.74 BM, whereas for [Fe(H,0)**is
5.92 BM.
Reason R : In both complexes, Fe is present in + 3 oxidation state.
In the light of the above statements, choose the correct answer from the options given below :
(1)Aistrue but R is false
(2) Both A and r are true and R is the correct explanation of A

(3)Ais false but Ris true
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(4) Both A and R are true and R is NOT the correct explanation of A
A Q1 o & T 2, Ud BT AfBeT A SR TR DI RY R & U H F=efud fbar 1 7 |
3BT A : [Fe(CN),J* & @act JahvT gaaid 3reel &1 71 1.74 BM 8 S1afd [Fe(H,0),]* 5.92 BM 2 |
SRR : TET Agell § MRA + 3 JMaAIHROT Aoy # 7 |
SWIFT HUT & Fad 4 A QT T fAdpedl 9 9el IR Bl g |
(1) A9 1R R 39
(2) AR R Sl 9 € 3R R, A & 981 IRaT &
(3) AT IR R I
(4) AR R Sl 9 € 3R R, A & 98! Uy 181 @
Question ID: 7155053753
Ans.  Official Answer NTA (4)

Sol.  [Fe(CN) ]

3d 4s 4p
Fe in ground state NMEEIERK 1)

Fe in +3 state IEREREENE
1
, tr ottt
Fein [Fe(CN),J* CN CN CN CN CN CN

Hybridisation = d’sp’
— CN~=SFL (Pairing)
Unpaired electron=1
p=n(n+2) =1x3 =1.74 BM.
[Fe(H,0),]** No pairing because H,O is WFL Number of unpaired electrons = 5, u = 5.92 BM

Assertion is true, Reason is true but not correct explanation.

63.  Themajor products A and B from the following reactions are :
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H
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LiAl H, 0
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(HA= ﬁO( B
Br Br

¢

H H
(2) A7 0 B=
Br
Br I
N\ K NH,
(3) A= O B=
Br Br
Br I o
N N
4) A= \O‘/ B= \K

OH
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frferReaa sifrforan # a1 g0 Scae A 3R B %

H
N
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Br

N\K
(1)A= ) B=

Br Br

~

H
N N
Q) AT ﬁoﬁ B = @/ N —
Br

Br u
N\ K
(3)A= 3 B~
Br Br
Br H
N
(4) A= \if/ B=

Br

Question ID: 7155053759
Ans.  Official Answer NTA (2)

H.C 1. Br,

2. AcOH
}O —)C /@)\l H\"/CH3
Br
(A)

NI,

N

OH

Sol. NH
© ‘LiAlH4 @/ ACH:
(B)
64.  The major product formed in the following reaction is -
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X

COOCH,

(1)

3)

S

CONH,

&

NH

Br,/ NaOH

A
0
)
NH
O
0
(4)
O
0

& 2 rfafear § & wE Sk @
@i\CONHZ Br,/ NaOH
A
COOCH,
O O
(1) (2)
NH
O 0]
O
(3) NH 4)
O
0 0
Question ID: 7155053757
Ans.  Official Answer NTA (3)
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Sol.

65.

CONH,  hoffman bromamide _ NH,
Br,/NaOH { (0]
COOCH, CH,

0

°|

NH
0]
The setting time of Cement is increased by adding
(1) Limestone (2) Gypsum (3) Silica (4) Clay
AT & S & FHT P 9T Sl Fhdll o | STADY
(1) 9T geerR (2) for=TH (3) faferant (4) T faedT

Question ID : 7155053749

Ans.

Sol.
66.

Ans.

Sol.
67.

Official Answer NTA (2)
Setting time of cement can be increased by adding gypsum.

The standard electrode potential of M/ M in aqueous solution does not depend on

(1) Ionisation of a gaseous metal atom (2) Sublimation of a solid metal

(3) Hydration of a gaseous metal ion (4) Ionisation of a solid metal atom

A TR fava M/ M St o sroaae e @ 719 8t & fiv 981 3l =

(1) 3AMTEHROT Hi (2) SEUTTH ol

(3) STerare T O EIEERERISERS ]
Question ID: 7155053748

Official Answer NTA (4)

M) T, M e M e M

Match List I with List IT

List-1 List-1I

(Enzymatic reaction) (Enzyme)

A. Sucrose — Glucose and Fructose I. Zymase

B. Glucose — ethyl alcohol and CO, I1. Pepsin

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixedu.in ; Email : smd @matrixacademy.co.in

Page No. 7




n M ATRIX Question Paper With Text Solution (Chemistry)
JEE Main April 2023 | 06 April Shift-1

C. Starch — Maltose I1I. Invertase

D. Proteins = Amino acids IV. Diastase

Choose the correct answer from the options given below :

(HA-TLB-LC-IL,D-IV (2)A-LB-1II,C-1V,D - I
BG)A-NILB-LC-1V,D-1I GHA-LB-1V,C-1I,D-1I
Ao 114 gafera o |

A - 1 g - 11

NSIESESIEI BRI ARSIER

A. gHE —> TP 3R HacH |VIFE]

B. @ — TR Tedlgle CO, I1. ufte

C. R — HIee 1L s

D. 9IiEH — AT 31 V. SRRcH

A o T fadeni 4 ¥ |El SR Bl g ¢

(HLA-NILB-LC-I,D-1V 2)A-LB-1I,C-1V,D -1IlI
BG)A-NILB-L,C-1V,D-1I GHA-LB-1V,C-1I,D-1I

Question ID : 7155053744
Ans.  Official Answer NTA (3)
Sol.  Theory Based. (Factual)

68.  The possibility of photochemical smog formation is more at
(1) Marshy lands (2) Industrial areas
(3) The places with healthy vegetation (4) Himalayan villages in winter
YHRIRARI ¢ &) 1T 31 il 2 -
(1) gereel 9 W= (2) et e #
(3) &1 IR aTel STTEl W (4) ovs ¥ feATerdl dl #

Question ID: 7155053752
Ans.  Official Answer NTA (2)
Sol.  Photochemical smog occurs in warm, dry and sunny climate. the main compounents come from the action of

sunlight on unsaturated hydrocaron and nitrogen oxides produced by automobiles and factories.
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69. For the reaction

RCH,Br + 1~ —2€ , RCH, [ +Br~ major

The correct statement is -

(1) The transition state formed in the above reaction is less polar than the localised anion
(2) Brcan act as competing nucleophile.

(3) The solvent used in the reaction solvates the ions formed in rate determining step.

(4) The reaction can occur in acetic acid also.
& 8 iffhar & ford
RCH,Br +1~ —2¢ _, RCH,I+Br~ major
A F @ -
(1) SR X 73 MAfHar § a0 FhHT AT WIFRNAT F0mI+l A HF gdg Bl |
(2) Br Weid AMASHETE! B a8 BRI d FHdl & |
(3) rfafehar # SUART b T faarae 9 MgiROT 8 H 99 AT ®1 fAced &R ol & |
(4) Yfafes orer 3 +ft arfaferar =1 Wl B
Question ID: 7155053756
Ans.  Official Answer NTA (1)
Sol.  This s finkelstein reaction
I

i

RECH-Br—>R—Cl~I+Br
S\2

R
I

Transition state | —/C\— Br
H H
Clearly, the transition state is less polar than free anions. Br-and I
Acetic acid is protic which does not support S 2 acetone does not solvate anion
Br gets precipitated and hence can not compete with I

So only (1) is correct
70. Strong reducing and oxidizing agents among the following, respectively, are
(1) Ce* and Eu?* (2) Ce*" and Ce** (3) Ce** and Tb* (4) Eu** and Ce*
ffaRad & o yad Uad® 3R STaieRS 2 |
(1) Ce* 3R Eu > (2) Ce** 3R Ce* (3) Ce** 3R Tb** (4) Eu* 3R Ce**
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QuestionID : 7155053751

Ans.  Official Answer NTA (4)

Sol. Eu**— Eu¥

(more stable)

— Eu?*(good reducing agent)is easily to get oxidised in Eu**
71. Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Loss of electron from hydrogen atom results in nucleus of ~.1.5x10~> pm size.
Reason R : Proton (H") always exists in combined from. In the light of the above statements, choose the most

appropriate answer from the options given below :

(1) Ais correct but R is not correct

(2) Ais not correct but R is correct

(3) Both Aand R are correct and R is the correct explanation of A

(4) Both A and R are correct and R is NOT the correct explanation of A

A <1 P & T €, U@ BT e A SR TR DI RY R & U # iU fhar T 7 |
AMBYT A : BISSIOH WA A Fdg™ & Fdad F 1.5x107 pm AEHR & desds &1 STl 2 |
®ROTR : YIS (HY) g9 §gad w9 ¥ I8dT 2 |

ST BT & Haw H -1 3 T fabeni § 3 qad IRIT IR BT g -

(1) A9 U= R 37 2 |

(2) AT IR R I B |
(3) AR R TFI ¥ & 3R R, Al 98! IRaT 2 |
(4) AR R T 9T & iR R, A ®l W& AR B |
Question ID: 7155053747
Ans.  Official Answer NTA (4)
Sol.  H'"— Nucleous containing one proton.
sizer=r_.a"”

= (1.5 x 105m) x (1)"*

=1.5x 107 pm
72. Match List- I with List - I
List-1 List-1I
A. Hell-Volhard-Zelinsky reaction [. NaOH + [,
B. Iodoform reaction IL. (i) CrO,CL,, (i) H,O
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C. Etard reaction III. (i) Br, / red phosphorus, (ii) H,0O
D. Gatterman - Koch reaction IV. CO, HCl anhyd, AICI,

Choose the correct answer from the options given below :

(1) A-II1, B-II, C-1, D-1V (2) A-111, B-1, C-II, D-1V

(3) A-1II, B-1, C-1V, D-II (4) A-L, B-1I, C-1II, D-IV

- 1 1Y T % -

- 1 - 11

A. BAAICTS Sifererel srfifehan I. NaOH + L,

B. JAISIGR 3iffshar II. (i) CrO,CL, (ii) H,O

C. Scrs srfafshar 1. (i) Br, / ofTel ®R%INE, (ii) H,O
D. TexHE ®g 3rfafshar IV. CO, HCl anhyd, AICI,

A1 ford T et & W SR B G -

(1) A-II1, B-II, C-1, D-1V (2) A-111, B-1, C-II, D-1V

(3) A-1II, B-1, C-1V, D-II (4) A-L, B-1I, C-1II, D-IV

Question ID: 7155053758
Ans.  Official Answer NTA (2)
Sol.  HVZreactions = Br,/red P
lodoform reaction =NaOH + 1,
Etard reaction = (i) Cro,Cl,, CS, (i1) H,O
Gatterman-Koch reaction = CO, HCI, Anhydrous, AICI,
73.  Match List [ with List II

List-1 List-1I

(Oxide) (Type of bond)

A.N,O, I. 1N =0 bond

B. NO, II. 1 N-—O—N bond

C. N0, III. 1 N —N bond

D.N,O IV.1 N=N/N=N bond

Choose the correct answer from the options given below :

(1) A-111, B-1, C-II, D-IV (2) A-11L, B-1V, C-III, D-1

(3) A-11, B-1, C-I1I, D-IV (4) A-111, B-1, C-1V, D-II
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A L 1 & 1 giferd o |

- 1 - 11

(CIERIFS)) (3ITEE BT YPR)

A.NO, I. 1 N =0 amdy

B. NO, I 1 N—O— N 3y

C. N,0, IIL 1 N — N arae

D. N,0 IV. 1N =N/N =N arde

A1 fordy T e O W SR BT G

(1) A-III, B-I, C-I1, D-IV (2) A-II, B-1V, C-III, D-I
(3) A-IL, B-1, C-III, D-IV (4) A-IIL, B-I, C-1V, D-II

Question ID: 7155053750
Ans.  Official Answer NTA (1)

Sol.  N,0, NO, N,0, N,O
" 0 0
00 P I | R W
O=N-N=0 Q=N—0: o NN OTNEN and O=N=N

74. Match List I with List I1

ListI ListIl
A. Nitrogen L. Na,[Fe(CN),NO]
B. Sulphur II. AgNO,
C. Phosphorous IIL. Fe,[Fe(CN),],
D. Halogen IV. (NH,), MoO,
Choose the correct answer from the options given below :
(1) A-1V, B-1I, C-I, D-1II (2) A-1I1, B-1, C-1V, D-II
(3) A-IL, B-1, C-1V, D-III (4) A-11, B-1V, C-1, D-1II
A [ 1 A 11 & gaford & |
gl g1l
A, ATEISH L. Na,[Fe(CN),NO]
B. @R II. AgNO,
C. BIEpRY IIL. Fe,[Fe(CN),],
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D. geflot IV. (NH,), MoO,

e T fadedt § § W SR BT g

(1) A-IV, B-IIL, C-1, D-III (2) A-IIL B-L C-IV, D-II
(3) A-IL, B-L C-1V, D-1II (4) A-IL B-IV, C-1, D-1II

Question ID: 7155053755
Ans.  Official Answer NTA (2)
Sol.  Nitrogen detection by lassaigne's method
Na+ C+ N — NaCN
6NaCN + FeSO, — Na,[Fe(CN),] + Na,SO,
Na,[Fe(CN),] + Fe’" — Fe [Fe(CN) ],
(Prussian blue)
Sulphur detection by Sodium nitroprusside
Na [Fe(CN), NOJ + Na,S — Na, [Fe(CN).NOS]
[Purple]
Phosphorus detection by ammonium molybdate
Na,PO, + 3HNO, — H,PO, + 3NaNO,
H.PO, + 12(NH,), MoO, + 21HNO, — (NH,), PO,. 12MoO, + 2INH NO, + 12H 0
(canary yellow)
Halogen give specific coloured ppt with AgNO,(aq)
NaCl +AgNO,(aq) — AgCl + NaNO,
(White)
NaBr + AgNO,(aq) - AgBr + NaNO,
(Pale yellow)
Nal + AgNO,(aq) — Agl + NaNO,
(Yellow)
75.  Foraconcentrated solution of a weak electrolyte K= equilibrium constant) A B, of concentration 'c', the

degree of dissociation 'o!' is -

1 1 1 1
K. )5 K. )5 K. Vs K. s
1 “ 2 “ 3 = 4 “
(){5&] ()[6c5] U(m&:“} (){25&]
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fordfy gdfer dqg armeea (K, = wramawen Rerid) A B, Rae! @i 'c' 8, & 6 e & ford e

CARRIE IR AR
1 1 1 1
Keq )5 Keq )5 Keg 8 Keq )3
) ( 5¢t ] @ ( 6¢’ ] ©) (10&:4 j ®) {25& ]

Question ID : 7155053743
Ans.  Official Answer NTA (3)
Sol. A B,(aq.) = 2A]_,+3B,

~— “a) (aq.)
c(l —a) 2ca 3ca
[A*P[B” T _4c’a’x27¢%e’
“ [A,B;] c(1-a)
108¢’a’
K =
eq c
1
o= Ko |
108¢*
—> Residue: Q
76. Compound PLI’A) Filter —
(M.F.) C,,H,,ON —> Flltr;[eOH
M.F. = MOLECULAR a
FORMULA Oily Liquid R.

Compound P is neutral, Q gives effervescence with NaHCO, while R reacts with Hinsbergs reagent to give
solid soluble in NaOH. Compound P is.

O
N — CH,
(1) |
H
O

C— 1|\1 —H
(2) H
CH,
MATRIX JEE ACADEMY

Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 14




M ATRIX Question Paper With Text Solution (Chemistry)
JEE Main April 2023 | 06 April Shift-1

I§
O 0
CH,
O
ﬁf N
“4) I|{
H,C

A —> Residu: Q

Compound P& Filter —
(M.F)) C,,H,,ON
M.F. = MOLECULAR FORMULA

Oily Liquid R.

——> Filtrate
l NaOH

i P S 8, Q NaHCO, & W1l Ygggar ol & widfd R fe=aai siffiepded ¥ sififhar e+ av NaOH

# goreiel o < 2 | B P R -
(0]

(1) |

) H

CH,

I§
70
CH,
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0]

~

4)
H,C

Question ID: 7155053754
Ans.  Official Answer NTA (4)

+
3

ﬁWQ el OCOOH ©

Resi / W
S Filtrate
COOH
|9 N
o
Q
l l Hinsbereg reagent
Sol. . ? 0
CO, with NaHCO, NH-S?
NaOHl
Soluble
77.  Polymerusedinorlonis:
(1) Polyethene (2) Polycarbonate (3) Polyacrylonitrile ~ (4) Polyamide
MATRIX JEE ACADEMY

Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 16




n M ATRIX Question Paper With Text Soluti-on (Chemistry)
JEE Main April 2023 | 06 April Shift-1
SR H TN fhar S arell 9ged &
(1) dfferei= (2) difermrae (3) difertfehaggrsa (4) dffergargs
Question ID : 7155053760
Ans.  Official Answer NTA (3)

(liN
n CH,= CH Polymerisation . CH,— (le
Acrylonitrile CN |n

Sol.

Polyacrylonitrile
(Orlon)

78.  The difference between electron gain enthalpies will be maximum between :
(1)Arand Cl (2) Ne and F (3)Ne and Cl (4)Arand F
goIde™ dfeT T Bl 3R JAfhdd BT
() Ar3iR Cl & dra # (2) Ne iRF & 49 #
(3)Ne 3R Cla €9 # (4)Ar3iRF & 9 #

Question ID : 7155053745

Ans.  Official Answer NTA (3)

Sol.  CI has the most negative AH_ among all the elements and Ne has the most potitive AH_ .

79.  Acompound is formed by two elements X and Y. The element Y forms cubic close packed arrangement and
those of element X occupy one third of the tetrahedral voids. What is the formula of the compound ?
(XY, (2) XY, 3)X,Y @D X)Y,

T AfE 31 ddl XAIRY A a1 8| dad Y o= ffas e qemar € 3R dwr X agqwhaadia Ridaat &
Ueh fBTs BT ORaT & | AP & G a1 & ?
()XY, (2) XY, 3)X,Y @D X)Y,

Question ID : 7155053742

Ans.  Official Answer NTA (4)

Sol.  Y:CCP=4Y
X=13THV=1/3x8=28/3
- Formula: X, Y, or XY,

8/3 74
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80. Match List I with List 11

List-1 List-1I

Vitamin Deficiency disease

A. Vitamin. A L. Beri-Beri

B. Thiamine II. Cheilosis

C. Ascorbic acid III. Xeropthalmia

D. Riboflavin IV. Scurvy

Choose the correct answer from the options given below :

(1) A-1V, B-II, C-III, D-I (2) A-1I1, B-1, C-1V, D-II
(3) A-IIL, B-II, C-1V, D-I (4) A-1V, B-1, C-II1, D-II
A T 1 A 1191 ghfere o

- 1 - 11

faeri=a BT ST T

A. fdeMi A L R0

B. aHH I1. B

C. VWhIfdd 3wt [11. foRRwferar
DINEEINCICE IV. ¥hdl

A & T faheul | |El SR DI G ¢
(1) A-IV, B-II, C-II, D-I (2) A-IIL, B-1, C-1V, D-II
(3) A-IIL, B-11, C-1V, D-I (4) A-IV, B-1, C-1II, D-II

QuestionID : 7155053761
Ans.  Official Answer NTA (2)
Sol.  Theory based.
81. The value of log K for the reaction A — B at298 K is . (Nearest integer)
Given : AH®=-54.07 kJ mol™
AS°=10J K mol™
(Take 2.303 x 8.314 x 298 = 5705)
298 K a9 W 3ifafehar A — B @ foig log K &1 A4 2 | (Nearest integer)
feam 72m 8 : AH® = - 54.07 kJ mol!
AS°=10J K mol!
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(2.303 x 8.314 x 298 = 5705 )
(Freve qorien)

Question ID: 7155053765

Ans.  Official Answer NTA (10)

Sol.  AG’= AH°-TAS

= AG® = (-54070 — 10 x 298)

Also, AG*=(~2.303 RT log K)

=(~2.303 x 8.134 x 298log K)

= logK=10

= (=54070 — 10 x 298)

Ans: 10

82.  Forthe adsorption of hydrogen on platinum, the activation energy is 30 kJ mol ! and for the adsorption of
hydrogen on nickel, the activation energy is 41.4 k] mol™. The logarithm of the ratio of the rates of chemisorption
on equal areas of the metalsat 300 Kis ~ (Nearest integer)

Given:In10=2.3

R=8.3JK"'mol"

wifeTq A8 WR Blgsiol- & RN & foru dfthaer ot 30 k J mol ! @ 3R et Tdg W BIssIoid &
arfereiyor &1 Afchaor Huii 41.4 kJ mol ' & | 300 K A9 4R &I1qf3ii & HHM &=thel UR YHIGRIYYT &l &% & AT

@ AGIIE 7| (Macaw qoie)
g :In10=2.3
R=8.3JK ' 'mol"

QuestionID : 7155053768
Ans.  Official Answer NTA (2)

Sol. K= AeRT

(Ea )2

K,= pc rT

(Ea )l 4<Ea )2
K 2 RT
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K, _ E)—(E,),

lo
®K, ~ 23RT

_ (41.4-30)x1000
23x83x300

Ans:2

83. Consider the graph of Gibbs free energy G vs Extent of reaction. The number of statement/s from the following

which are true with respect to points (a), (b) and (¢) is

Gibbs energy —

Extent of reaction =

A. Reaction is spontaneous at (a) and (b)

B. Reaction is at equilibrium at point (b) and non-spontaneous at point (c)

C. Reaction is spontaneous at (a) and non-spontaneous at (¢)

D. Reaction is non-spontaneous at (a) and (b)

rest Had il IR AfMfhan & fawaR @ 919 3fTeld &I &9 | <@ | 955 (a), (b) 3R (¢) & 3R fAm=falad
IR o B

Gibbs energy —

Extent of reaction —>

A. a5 () 3R (b) W 3rfAfhar . ywafda @
B. {45 (b) W= sffshar |r=meaRen # & iR 45 (¢) W) sRaa: yafda &
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C. fag (a) W 1fAfhar w@a: yafdd 7 3R fawg (c) W sraa: yafda &
D. fa=g (a) 3iR (b) W ifAfhar sraa: yafda &
Question ID: 7155053767
Ans.  Official Answer NTA (2)

Sol.  For, Spontaneous process dG <0
For, Equilibrium dG=0
For, Nonspontaneous process dG > 0
. AWrong
B Correct
C correct
D Wrong
84.  Mass of Urea (NH,CONH,) required to be dissolved in 1000 g of water in order to reduce the vapour
pressure of water by 25%is  g.
Given : Molarmass of N, C, O and Hare 14, 12, 16 and 1 g mol ™ respectively.
a9 < BT 25% HH PR D forg 1000 g ur+il 7w @ forg gRar (NH,CONH,) &1 H1aesd gegai
g ®| (Foed quim)
fear g : N, C, O3IRH & AleR g9 %A 14, 12, 16 3R 1 g mol™' & |
Question ID : 7155053766
Ans.  Official Answer NTA (1111)

X
PO_PS = nsolute — 670 — P0_0.75P0
SOI' PS 1,lsolvent 1000 075P0
18
10000

=>X= T=1111 gm

85.  Number of ambidentate ligands in a representative metal complex [M(en)(SCN),Jis
[en = ethylenediamine]
& 7 g Weget [M(en)(SCN),] # S9! forres &t wiwar €|
[en =ethylenediamine]

Question ID: 7155053769

Ans.  Official Answer NTA (4)
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Sol.  [M(en)(SCN),]

S=C=N_
el AN
Ambidentate ligand means two ligand site, so ambidentate ligand is SCN".
86.  Number of bromo derivatives obtained on treating ethane with excess of Br, in diffuced sunlight is
fa=fRer S@uerer § VI 1 Br, @ e # Sfehar R o a1H ea=il Bl 6l g |

Question ID: 7155053770
Ans.  Official Answer NTA (9)
Sol.  CH,—CH, + Br, (Excess) — v

Monobromo/\ Br
Br
Br Br —<<
Dibromo \_/ Br
Br B
— r
% Br
Tribromo Br Br Br
Br Br Br Br
Br
Tretrabromo BF Br Br
Br Br
>—é Br
Pentabromo B Br
Br Br
Br —éé Br
Hexabromo Br Br
87.  The number of species from the following which have square pyramidal structure is

PFE;, BrF, ,IF;, BrFy, XeOF,,IC1,
ffaRad § 9 ot RIS Wam arel onfaal & w2
PE;, BrF, , IF, BrEs, XeOF,, ICl,

Question ID: 7155053764

Ans.  Official Answer NTA (3)

Sol.  PF,

sp*d (0 lone pair)
Trigonal bipyramidal
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..
:F:
..
.
:

:ﬁ/

X
—_—
.

X

¥ — g

BrF,,
sp*d? (2 lone pair)

Fa | oF

F A

IF,

sp*d? (1 lone pair)

:E\I /F

5 | N
:E:

BrF,

sp’d? (1 lone pair)
:F:

:E\Blr P

7N

XeOF,
sp*d? (1 lone pair)

O

Xe  square pyramidal

/AN

F O F

IC1;

sp’d? (2 lone pair)

Cl

L
“ S

S, [ Square planar

F square pyramidal

square pyramidal

Cll E\Cl square planar

88.  Inammonium — phosphomolybdate, the oxidation state of Mo is +
JMAIFTIH — BiEpEIferese # Mo @1 ffa=dIvor 3raver + g |
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Question ID: 7155053771

Ans.  Official Answer NTA (6)

Sol.  (NH,), PO,. 12MoO,
Let X = oxidation state of Mo in MoO,
X+(2)x3=0
X=+6

89.  The wavelength of an electron of kinetic energy 4.50 x 10®Jis  x10°m.
Given : mass of electronis 9 x 103 kg, h=6.6 x 103 J s
4.50 x 102 J ST Sl arel geldg™@ @ ai—aed  x 10° m 7 | (Frevead quri)
o T 8 ¢ Selae ™ &1 g\ 9 x 1027 kg, h=6.6 x 1034 s

Question ID: 7155053763

Ans.  Official Answer NTA (7)

h_ h 6.6x107
Sol %= v V2mKE  2x9x10 "x4.5x10 2
6.6x10™"
- [92 % 1 0—60
34
_ 6.6><10_30 _ @x104
9 x10 9
=73x 10" m
Therefore Ans=7
90.  If5Smoles of BaCl, is mixed with 2 moles of Na,PO,, the maximum number of moles of Ba,(PO,), formed is

gfe BaCl, @ 5 el @1 2 il Na,PO, 3 M fbar @ 8 o1 Ba,(PO,), & o Sifdieed Hiell o e
1 (e guiie)
Question ID: 7155053762
Ans.  Official Answer NTA (1)
Sol.  3BaCl, + 2Na,PO, — Ba,(PO,), + 6NaCl
5 2

Na, PO, is limiting reagent.
2 mole Na,PO, gives 1 mole of Ba,(PO,),
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